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1. WOGIH HIVA 95S 1858 T HEUM HSA HIS ?
(a) W€ TR HIAS 9 HI ATH SHAGRH I el Hodl YL
(b) HUEr wfTerE] T
(c) vRAHEEE! TG
() fasdifawas safaE! e - Seen fifve faair
gt S

1) (@ k) 2 O 3 @ © @ 4) (@), (®) (9 (d
Which of the following changes were brought about by the Act of 1858 ?

(a) End of dual authority of Board of control and Court of Directors.

(b) Creation of a post of parliamentary minister.

(c)  Setting up the Council of India.

(d) Expansion of the Governor - General’s Council for legislative purposes.

Answer options :

1) @), ) (© (2) (b). (9 G @ © @ @) (@, ) () ()

2. UEO W TE EUE faum 9 e
(2) 1919 = FIETGY THGHAMIYE] U AR 99 gage 7o
(b) 1861 =01 FIFATY REHIT= HIf-Heued iR AEad gee= HE gafaer e,
afeft 3
(1) 9P (a) (2) AT (b) (3) < (4) THE L
Which one of the following two statements is correct ?

(@) The Act of 1919 suggested special constituencies for Muslims.

(b) Inclusion of non-official members in the Viceroy’s council was suggested by the Act
of 1861.

Answer options :

(1)  Only (a) (2)  Only (b) (3) Both (4) Neither
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3.  YNAE U 99deq YOSt T 376!, TOEEt 9 A9, 318 faum il e w2

(1) =7 TS (2) TS FET Ee
(3) T we e (4)  <rerrE AR

With reference to the Indian National Congress who said, “Kings are made for the people,
not people for their Kings ?”

(1) M.G. Ranade (2) G.K. Gokhale
(3) Firoz Shaha Mehta (4) Dadabhai Nauroji

4. WU AT YA WA (G99 ARESIER T AHTIE Fifde T 10

(4) @ AN GO B,

The Nawab of Bhopal was asked to have a look on the outline of the Indian Independence
Bill because

(1) He knew law.

(2) He was the advisor of the British.
(3) He was the Chancellor of the Chamber of Princes.
(4) He was the advisor of the Indians.
5. qUAT WEWE H99 Wisoedl WG GARYTET yEd e 9 TR e
1) oie i (2) WS wHEA
(3) oS uHO (4) W fi=e e
refused to accept the welcome address proposed by the Sarvajanik Sabha of
Pune.
(1) Lord Ripon (2)  Sir James Fergusson
(3) Lord Mecaulay (4)  Sir Richard Temple
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6. oL ALY WS FTHIR § HEa Aol Hal TEhR] G T HI0T HIl ?

(1) AR sreEHt (2) & TR feww

(3) TR SAfde FO (4) IFHL A

Who set up the cooperative societies for sweepers and scavengers in Bombay ?
(1) B.R. Ambedkar (2) Bal Gangadhar Tilak

(3) Mahatma Jyotiba Phule (4) Thakkar Bappa

7. WIOoYE! Hiver GRS/ QU St/ fayart faar s/ w0 ?

(a) fasmRmre yfed (b) e e §o

(c) W Mfag Te (d) il FyE FHd

i I

(1) (a) S (b) ) (@ 3 ® (4)  (a) ST (d)
Which of the following social reformers married widows ?

(a) Vishnu Shastri Pandit (by Mahatma Jyotiba Phule

(¢) Mahadeo Govind Ranade (d) Dhondo Keshav Karve

Answer options :

1) @and®) @ (@ @) (O (4) (@) and (d)

8. U@ TM ! wvW faum Ay e ?
(a) AW TSI Te& &l el U XA A9 L.
(b) e yum fireR afisg aign 39 T
Ttet e
(1) 92 (a) (2) S (b) @) <= (4) THE R

Which one of the following two statements is correct ?

(a) The Non-Aligned Movement has grown four fold in terms of membership in the last
five decades.

(b)  The first Summit conference of the movement was held at Bandung.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (4)  Neither
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9. WHG TH AMNF I-AT=A1 SaLAT FHHTHR a0,

(a) fad=n (b) e (c) @i (d) =mRIEd
Tt I

1) (@ () (o) (d) (@) (&), (d), (b), ()

(3) (@) (). (b), (d) 4) (@) (b), (d), ()

Arrange the following places in decreasing order of annual rainfall.

(a) Sironcha (b) Beed (c)  Wardha (d) Baramati
Answer options :

1) @ 0O @ @) (a), (), ®), ©

(3) @) © () (@ 4 (@ 0) @ (©

10. STH FEEAE WY HI0T 37 ?

(1) @ (2) T A S

(3)  SHIdT STIf0T BleRgmal (4) T, wid o7 BT

What is the motto of ULFA ?

(1}  Unity (2)  Unity and Democracy

(3) Revolution and Democracy (4)  Unity, Revolution and Democracy

11. qE@ S 4! Hivm fagmE 9 81 ?
(a) Tafes YR GeA BTG BALET JHI0 YRAE T3 301 B,
(b) WIS el wien e w$Ig N hed g df 393 €.
Reipikcs
(1) %ds (a) (2) 9B (b) @) &= (4) U AT
Which one of the following two statements is correct ?

a The Memorandum on Indian States published by the Government of British India
p Y
put the number of Indian states at 301.

(b)  Sir Warner Lees in his book Native States of India puts it at 393.
Answer options :
(1) Only (a) (2)  Only (b) (3) Both (4)  Neither
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12. 9d o ufyed wfewm = 1971 94 5o HRUMYD Sioed Tele gl HIarshi
AL

(a) WiST HEIHTE! Godr.

(b) 3T SR U&TH Yol ARl agHd TeTiud e,

(c) WfwEITo et g8 niewmiats o= HEm s,
(d) R T THYS AEHF AT TGO L.

TaiEr 9T
(1) (d), (b), (), (c) (2)  (a), (b), (d), (c)
@) () (@) (d) © 4)  (b), (d) (a) (o)

Arrange the following events that led to the war between East and West Pakistan in 1971
in their chronological order.

(a) Launching of Civil Disobedience Movement.
b)

(¢) Launching of military campaign against East Pakistan by the President of Pakistan.

~—~

Awami League Party established its majority in East Pakistan.

(d) Urdu was declared as the only official language.
Answer options :

1) (d) (b), (a) () 2) (@), () (d) ()
(3) (b (@ (d) (9 4)  (b) (d), () ()

13. WSIGURt SIS Uy &, feanit fofge ?

(a) T oM T 37  I_L (b) Afcw wHHE 7T T AT
(c) fasey 1w 2 Je (d) T INFA

it I

1) (@), ®), (), (d) @) () ()

(3) (@), (), (© 4) () (b), (d)

Which of the following books did Lokmanya Tilak write ?
(@) The Arctic Home in the Vedas  (b) Vedic Chronology and Other Essays

() Secrets of the Vedas (d) The Orion
Answer options :

1) (@), (), (), (d) 2) (@) b

(3 (@, b)) 4) (@), (b), (d)
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14. ‘fioiie = oM Q2 9 S o AR . faur v e s fofee ?

1) 1 dFeEnTe 2) e amfE

(3) weTeH Mt (4)  wAfS ARIE

‘The tax on salt is a plunder and clear-cut injustice’. Who wrote this statement in his
book ?

(1) Ramsay Mac Donald (2) Lord Irwin

(3) Mahatma Gandhi (4) Sarojini Naidu

15. 0 9% ST 9o Rlots! S faud g o ?
(a) T AE.HLTE. afe E,
(b) @ wHW A fauriy sTge 2.
() TSI T HAAl B,
(d) T fE HeirYEE SRR 2.
it I
(1) (a) 3 (b) 2) (© @) @ (4)  THIvTE TR
Which one of the following statements is incorrect about Romesh Chandra Dutta ?
(a) He was an ICS officer.
(b) He was the First Indian Regional Commissioner.
(c¢) He was a Minister in the Baroda State.

(d) He was an outstanding figure in economic investigation.
Answer options :

(1) (a) and (b) 2 © 3) (@) (4) None

16. fgg Temy=a =MfieEe Segvdd FMeTaE! 9ar &0 & 314 7
(1) e oYy 9 9. 7eH e Hodi.
(2) HEEE M F U, OO Tee
(3) . fea® 7 7.fa. Feat
4) fau filk g 5l JeERe siaest

Who used to propagate eradication of untouchability from the platform of the Hindu
Mahasabha ?

(1) Lala Lajpat Rai and Pt. Madan Mohan Malviya

2) Mahatma Gandhi and Pt. Jawaharalal Nehru

3) Lokmanya Tilak and N.C. Kelkar

4) V.R. Shinde and Dr. Babasaheb Ambedkar
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17. I S Sl v faum 9 e ?
(a) T71824 WA Tohelean WAATHE] o [TATIEE] W WE ©H 9 F.
(b) T 1842 A&l UIR <A1 f9&I@ Hictea SeANasg I IH de Ho.
wafEt I
(1) 9 (a) (2) FF3 (b) () = (4) THR R
Which one of the following two statements is correct ?
(a) Madhukar Shah revolted in 1824 for the restoration of independence of Kittur.
(b) Royappa revolted in 1842 against the decree of the Civil Court of Sagar.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

18. el (@l ¢

(@) TepvoiicEa @i HFgER
(b) TG SEd (f)  HATeRs, SR, Hgard
(c) HTBHEE IHS (iii) TeHsT
(d) oFw IHd (iv) e - SEE
T I
(@ () () (d)
1 @ O (@) 3§
() Gv) @) @ )
(3) () @(v) @@ @
@ O @ @) (@)
Match the following; :
(a) Kirnotsav (i) February
(b) Gharapuri Festival (i) November, January, February
(c) Kalaghoda Festival (il December
(d) Verul Festival (iv) November - January
Answer options :
@@ () (o (d)
O @ O @ @)
@ ) G 6 @
B) ) @) @ )
@ O 6 @ @)
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19. ‘9w ¢ fRgwme Tmies oy @l gl fra vodh wiest’. i Saec 9ead <M

(1) HewE S G (2) g st TR
(3) fad frar (4) fosi o eEve

‘Muslims are the citizens of Hindustan and they should be loval to Hindustan’. Name the
Scholar who said this during the Devband movement.

(1) Mohammad Kasim Nanautavi  (2) Rasid Ahmad Gangohi

(3)  Shibali Nimani (4) Mirza Gulam Ahmad
20. EUS GarEdie YN YUSH] 990 SediAl HIVd ST 7S TS 7

(1) HX9gsh (2) RN F qHde

(3) FoFEN 9 GER (4) FoFN 9 g

During the fight with the British scldiers which couple dressed in the attire of the Queen
of Jhansi got killed ?

(1) Sundar and Sundari (2) Kashi and Puranchand
(3) TJhalkari and Purchand (4) Jhalkari and Sundar
21. FAENSAERT Hafaaar=n QEarer SR HIvHTEl TaR GIeada SHIv YUR &3 ?
(1) Hiel %vE ®a (2) T LISt wA
(3) T 9IS gt @E (4) =T FUE

Who was the first from amongst the following to advocate, the use of contraceptives for
family planning ?

(1) Dhondo Keshav Karve (2) Raghunath Dhondo Karve
(3)  Dr. Bhau Daji Lad (4) Dr. Kotnis
22. YRAT WA fHeeaet wi=d 96l HHH wed e hvar 3T,
1) & (2) WRTE
(3) W som (4) TS
The state of Baroda was integrated in immediately after India became
independent.
(1) Kutchh (2) Saurashtra
(3) Bombay Presidency (4) Junagarh

el HTATETE! WA /SPACE FOR ROUGH WORK
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23. 1945 HEA U WA FLAGH] 15 IS Hfae a0 gufas Th. o Gaue [©ie
2 et v faum Ty TR ?

() TRW T feg Hew gafae B,

(b) <M HHW Hfee vee gafas B,

At I

(1) F9% (a) (2) E (b) (3) (4) TSR

In 1945 the Congress President suggested a cabinet of 15 members. Which one of the
following two statements about the suggestion is correct ?

(a) Five Hindu members in all were suggested.
(b) Two congress women members were suggested.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

24. . ¥A9F ®R A GUGE IRTHRA AT TH IETIHR 0 WO UL FO 3R, &
TGS S0 q 3liean ?

‘I AT HUIEd e, i stefemes snifor geTsens, sfuwr N e arer vy fofes. ..
q et fauft meifoaeam e 2. 91 S FEifes, TR 9 FHR Feded Jgd
F...."!

(1) R HE (2) . AEERY HeEHT
() oA foow (4) T M

An eminent biographer Shri Dhananjay Keer has described a hero of one of the biographies
he wrote, in the following words. Who is this hero ?

“He edited news paper. He wrote books on economics and sociology, history and politics....
He was Principal of a Law College..... A mass leader, he led social, political and labour
movements”.

(1) Veer Savarkar (2) Dr. Babasaheb Ambedkar
(3) Lokmanya Tilak (4) Mahatma Gandhi

Hoel HIEEE! WA /SPACE FOR ROUGH WORK
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25. GE gow ve fafaw 3w sfem o Yaeen e devREEde 9o effaam. a1 s
qrfcher § FIGTTHAM D,

(a) HETE! SE UATET ARIEET GA FHIAH S HA
(b) TER - SIReweT ‘faf daw’ o Jeo.

() O leceande MearasM Hievarered JeeRer gamd.

(d) IR TER WRIGUIAER H9A q&1 AT

agiEr 3 :
(D (@), (b), (c), (d) (2) (@), (d). (b), (©
(3) (b), (@), (d), (©) 4 (), (), (a) (©

The following events reflect the policy of the British East India Company towards the last
Mughal Emperor. Arrange them in a logical and chronological sequence.

(@) The company took away from the emperor his privilege of granting the robes of
honor.

(b) Was referred to by the Governor-General as the ‘'Humble Servant’.
(c) Emperor was forced to give up his residence in Red fort.

(d) The company prohibited the Emperor from convening Darbars.
Answer options :

(1) (a) (b), (c), (d) 2) (@) (d) (b), ()

@) (b), (@) (d) (©) @) (b)) (d) (a) (9

THoAT SRIATEE! AN /SPACE FOR ROUGH WORK
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26. SqE SodEdE! Hevidie f99M . |
(a) YGUF FIPA], TS GqZ F Feeld THE Al Sl
(b) U HEATH S 160 T4, 3.
(c) T FHIFal AT AR
(d) T FORTS B A0 =Arh TS 3 FH I,
Tt Fow faur e s 2
(1) (a) 00 (b) faum 9% 1=
2) (a) eftr (a) foum 9% oA
() (a) 30 (b) faum e aTRA.
(4) TR TEHE AR

Observe the statements about the world water transport.

(a) Suez canal connects Red sea and Baltic sea.

(b) The length of Suez canal is 160 k.m.

(¢)  Kiel canal is in Germany.

(d) The distance between London and New York is reduced due to Panama canal.
Which of the above statements are incorrect ?

(1) Statements (a) and (b) are incorrect

(2) Statements (a) and (d) are incorrect

(3) Statements (a) and (b) are correct

(4) None of the above
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27. HENINTES Ieidl aTaR hedl SO 15191 Saidl 6 oTa.
() SfrEifis (b) F (€ ¥ (d)  EH
it 3N
(1) SrenfiTeR, Hoft, SR, Yo
(2) 3irEnfiE, SO, FH,
(3) I, sirenfien, 3, S
(4) Y&, SEnfiTk, F, SR

Arrange in the descending order of utilization of energy the different areas in Maharashtra.
(a) Industries (b) Agriculture (¢) Railway (d) Domestic
Answer options :

(1) Industries, Agriculture, Domestic, Railways

(2) Industries, Domestic, Agriculture, Railways

(3) Agriculture, Industries, Railways, Domestic

(4) Railways, Industries, Agriculture, Domestic

28. 2011 <1 SFTVHER Q00 A YR Ia%aT Y o6l

(a) hIoHTT

(b) TEUETE

(c) STEHIEI

(d) TR

(e) W

qgidy I

(1) (@, (b) () (d) (e) (2) (a), (e), (b), (©) (d)
(3) (@), (), (d), (b), (¢) 4) (a) (e) (c), (b), (d)

As per the 2011 census, arrange the following million cities in a descending order.
(a) Kolkata

(by Hyderabad

(¢) Ahmedabad

(d) Bangalore

(¢) Chennai

Answer options :

1) @ ®)(© @@ @) @) @) b, © @

() @ (), @ b © (4) (@), @) (@), O), (@)

HTAT HFTETS IRW /SPACE FOR ROUGH WORK
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29. WOTBUHT R0 SMERT <9 Yafeed aTe ?

(1) ifera (2) Towesd (3) B (4) HEET

Which of the following African countries is not a landlocked country ?

(1) Zambia (2) Zimbabwe (3) Chad (4) Camroon

30. WSGUH! FHIVE fauH W 3Rd ?
(a) CIERUEA] TRl RIS SYSSIET SN ST YT T 1Y Ui
(b) Teemlarme e ST g9 FHl grourE! s gof e
(c) adieRmEd Wesh Tl yuaida FI0am e $Tad.
(d) TTEUHE S A o SEHAl.
Tt TN
(1) fagm (a) sl faum (b) T A
(2) Taum (a) nfor faum () Fca omg.
(3) fa=m (b) sufor fagm (o) v TR
@) faum () suftr faum () 97 oTgd.
Which of the following statements are true ?

(a) The atmospheric layer close to the earths surface is known as troposphere.

(b) The process of decrease in temperature with increase in height totally stops in
stratosphere.

(c) There is a capacity to reflect radio waves in the troposphere.
{d) The ozone layer is found in ionosphere.
Answer options :

(1) Statement (a) and Statement (b) are true.

(2) Statement (a) and Statement (c) are true.
(3) Statement (b) and Statement (c) are true.
(4) Statement (c) and Statement {d) are true.

el HIATEE W /SPACE FOR ROUGH WORK
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31.

32.

16
WA FIT SRS PR TEreR SR i ?
(1) Few, g, 1 era
(2) HIETE, He, Ser, fmmm
(3) TEmT, woE, fem, Aera
(4)  FHW, T, e, grem

Which of the following market centers are located on Nizampur plateau ?

(1) Nizampur, Kusumba, Ner, Dondaicha
(2) Malegaon, Zodaga, Dondaicha, Nizampur
(3) Nizampur, Malegaon, Zodaga, Dondaicha

(4) Kusumba, Ner, Dondaicha, Zodaga

©e 3 T¥1 Fiv faum ara o ?

(a) V@/THL GUET Hed1 STAR AY AR,

(b) FFpeITST TRV T FAG 99 TR,

et I

(1) *9% (a) (2) #a3 (b) (3) == 4
Which one of the following two statements is correct ?

(a) Goat Research Institute is located at Bangalore.

(b)  Poultry Training Institute is Iocated at Karnal.

Answer options :

(1)  Only (a) (2)  Only (b) (3) Both (4)

HTAT HIATATS WM /SPACE FOR ROUGH WORK

THE AR

Neither



A 17 EO6
33. WO FEEE Y B

(a) Fol Tofagd yHed qul FEe 3.

(b) & Sefaya Yeed Tl feernd .

(c) o1 Stofas@ waeqiqd 50 Wde fasriHdt wat S

DA RIvRT foHT G aTed 2
(1) faum (a) 07 (b ) fagm (b) & (o)
(3) faum (a) S (c) (4) faum (a), (b) 31T (c)

Study the following statements.

{(a)  Yeldari hydel power project is on river Purna.

(b)  This hydel power project is in Parbhani district.

(c)  The hydel power project generates 50 Mega watt electricity.
Which of the above statements are true ?

(1) statements (a) and (b) (2) statements (b) and (c)

(3) statements (a) and (c) (4) statements (a), (b) and (c)

34, WY 9 e g1 A fuee 71 o WHIdldle fau HieT Sihee AR, Su fUee TR
HIUH IR T S 3E 7
(1) TSI, Y, Feg JT, HERIE
(2) TRME, Y YU, TSEUF, T
(3) O, TS, HERTE, HEA o]
(4) HEA YW, PGS, THAH, [od

Bhill is a third largest community group after Santhal and Gond. In which four states the
Bhills are concentrated ?

(1) Rajasthan, Punjab, Madhya Pradesh, Maharashtra
(2)
(3) Gujarat, Rajasthan, Maharashtra, Madhya Pradesh
(4) Madhya Pradesh, Jharkhand, Rajasthan, Gujarat

Maharashtra, Andhra Pradesh, Rajasthan, Gujarat

el HIMTETE! W /SPACE FOR ROUGH WORK
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35. Yelo faumiis! e I e ?
(a) HIATE! 9IH USG9 1958 HY IURTITE TS,
(b) ot =TGR IURS! .
(c) ST UH HA[VE S TR,
i I ;
(1) (a) = (b) (2) (b 3 () (3)  (a) 37 (o) (4)  (a), (b) T (c)
Which of the following statements is correct ?
(a)  The first atomic reactor in India was erected in 1958.
(b) It was erected with the help of US.A.
(c) Apsara was our first Atomic Reactor.

Answer options :

(1) (a) and (b) (2) (b)) and (c) (3) (a) and (0 (4) (a), (b) and (c)

36. <EETA BNElT -1 Feded
(1) A TR (2) @=M R (3) THWTEE G (4) HEHAS
are the evidences of tectonic activities over Deccan plateau area.

(1) River basins (2) Lava flows (3) Hot springs (4) Kalsubai

37. Wdl FITEM SARAESH ST I Sl ShHM @A i@l 3w e,

(a) T (b) =W (c) HoE (d) dAEARg
it I

(1) (a) (), (d), () 2) (@) ®) ) (d)

(3) (b, (a), () (d) @) (b). () (d), (¢)

In the production of cotton textiles, arrange the following states in a descending order
and select the correct answer using the following codes.

(a) Gujarat (b) Maharashtra  (c) Punjab (d) Tamil Nadu
Answer options :

(1) (@) (b), (d) () (2) (@), (b), (@), (d)

3) () @, (9 (d) 4) (), (a), (d), (o)
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38. WIGIGUH] SV Yehdlq Hald Sed Ok JI0TH Hohes ?

(1) ™ 1950 (2) S 2001

(3)  HEA 1967 (4) EaE T MehER 2004

In which of the following earthquakes did the highest casualty occur ?
(1) Assam 1950 (2)  Bhuj 2001

(3) Koyna 1967 (4) Andaman Nicobar 2004

39. LR EE Grotata! S Taid Y= Tomqon 917 id ?

(1) T (2) eifewt (3) sfarefir (4) foum Fane
Uspallta Pass breaks the continuity of which of the following mountains ?
(1) Rocky (2)  Andes (3) Appalachian  (4) Siera Nevada

40. WGGUFRT SO JAET YA A 3173 TIIVITIIE] FHIATd ?

(1) @< (2) (3) HmET (4) fewe
Which of the following trees is used to produce tannin acid ?
(1) Banyan (2) Mango (3) Teak (4) Hirda

41. HEST UOETE BUAG &RAT 35%. STHd. HR UvAE Heid Afas 9 Hifeay Foie =1 wus
77.5% TAHT L.

TEIBUH! HVM fau Fiet e ?
(a) A THETET SRAT AN 240%0 T STHd.
(b) HYR VI HifSaH I Fal WAl Al THREH Hehe TH.

TgiEr 39T
(1) e (a) IS TR (2) FE®D (b) AT L.
3) 2 (4) e A

The average salinity of sea water is 35%o. Sodium Chlorate forms 77.5% of the composition
of sea water.

Which one of the following two statements is correct ?

(a) Dead sea has the salinity of 240%..

(b)  Magnesium sulphate is next to sodium chlorate in the composition of sea water.
Answer options :

(1)  Only (a) is correct. (2)  Only (b) is correct.

(3) Both are correct. (4) Neither is correct.
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42, HAQ U WUGTE WE YOIE QIOIos! RV HEMETRG el ?

(1) I ddifres (2) =i JHilRs

(3) W Fewifem (4) <y seaifew

Canaries cold ocean water current is found in which of the following oceans ?

(1) North Pacific (2) South Pacific

(3) North Atlantic (4) South Atlantic
43. RIS T U FIv faum erarg g ?

(a) W SIS GYETIET FAHT Y B,
(b) ORI HROMeS ST ai FHT0T g

qaiEr I
(1) 9 (a) HITT AR, (2) %9 (b) AT R,
(3) T A (4) UHE AT AR

Which one of the following two statements is incorrect ?

(a) Land is heated quicker than the adjacent sea.

(b)  As a result of the above land breeze is caused.

Answer options :

(1) Only (a) is incorrect. (2) Only (b) is incorrect.

(3) Both are incorrect. (4) Neither is incorrect.

44.

Yo, T, TH, TG & 9 HERTTG BvaTd Jorar v fehren srdte oed 2
(1) &% (2) =4 @) (4) =

Salem, Krishna, Tekurpeta, Rajapuri are the names of which of the following crops
cultivated in Maharashtra ?

(1) Turmeric (2) Sugarcane (3) Groundnut (4) Linseed
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45. ka1 Wew ol Sl ol hew aifoT JTTARTAN G ead.
(1)  0d 5T 007 SfeIor e
(2) 0410 3T 007 gfeqor ererge
(3) 07 20 I AT Ffaa0r Serga
(4) 0730 3T A7 SFeqor AergT
The settlements of Pygmy people are restricted in between and
latitudes in the continent Africa.
(1) 0 to 5 North and South latitudes
(2) 0 to 10 North and South latitudes
(3) 0 to 20 North and South latitudes
(4) 0 to 30 North and South latitudes
46. WA@IH! HIVK 92 FalB &2 HATE ?
(1) Wy e (2) @M
(3) @A = 4) fexRfErde
Which one of the following islands is a coral island ?
(1) Elizabeth Island (2) Bahama Island
(3) Baffin Island (4) Victoria Island
47. TRRERTS ol fSeaides! sl feer ster fSeamen o ISR et 7wl ?
(1) e (2) dfs (3) TRy (4) fEme
Which one of the following districts of Maharashtra is not an immediate neighbouring
district of Jalna district ?
{1) Buldhana (2) Beed (3) Parbhani (4) Hingoli
48. AT S A= HREAIE | SEETE EoeuH HIvd e Teed ?

(1) <rfw@n aEeh wfma gE Foameet A SER 99RO

(2) SAEfiTeTELoTeT ity qEr

(3) (e ST YA TR T

(4) TdRE SEEEET Sulaehd SedvaEe! Ay gadd.

Which one of the following was not an objective of the Mahalanobis strategy of India’s
economic development ?

(1)  Developing sound base for initiating the process of long-term growth.

(2)  High priority to industrialisation.

(3)  Emphasis on capital and basic goods.

(4)  Export promotion for increasing competitiveness of Indian industries.
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49. WERIETE® IWT &fea i gerelid vdda siuer = 3 o |ud qaifed ome #m
(a)  STHTET dig IaR & S e
(b) ST GO BT K]
(c) HIGHUIETINA FAEUN 39 M
it I
(1) (a) ®ed (2) (o) =W (b) (3) () # (o) 4) (@), (b) #A11 ()
The height and density of tropical evergreen mountain forest is limited in Maharashtra
because of ___
(a) Steep slope of the land and laterite soil
(b} Long dry season
(c)  Its location at higher altitude
Answer options :
(1) {a) only (2) (a) and (b) (3) (b) and (c) 4) (a), (b) and (c)

50. Yei® o faumie R0 O o1 ?
(a) STHAA TR/ ATRRAMIG/SATIM ST Haid Hid) e 7.
(b) ST & WIATAT AFRAFIGE ST Fard HidT 7 ST,
PRI HICH
() F () (2) % (b) (3) (4) THE

Which one of the following two statements is correct ?

(a) Amazon is the largest river of the world in terms of volume.
(b) Amazon is the largest river of the world in terms of area of drainage.

Answer options :

(1) Only (a) (2)  Only (b) (3) Both (4) Neither
51. FHIGTGH HeLY TG HL0N WG Geied A 2014 SRET o TG99 98 hay: W
HIA T S ?
(1) 3359 169 (2) 3384178
(3) 358 9 169 (4) 3689179

To do away with the collegium system, the amendimend bill 2014 was passed by the
following votes in Lok Sabha and Rajya Sabha respectively ?

(1 335 and 169 2 338 and 178

{

3 358 and 169 (4 368 and 179
{
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52. YR g faumHit=t Sioe ag e ?
(@) AR 1 G T 2005 IRH N Fl S TR,
(b) et 23 Tfee @ feaw ARl wan o' WA e Sl Sl
watdt e |
(1) 9% (a) (2) @ (b) (3) <rErR (4) TR AR
Which one of the following two statements is correct ?
(a) Civil Services Day is being celebrated since 2005.
(b) 23 April is celebrated as a Civil Services Day.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

53. hIUAl GaYUTHTeA] sl HiesT SRS f98ges To0 Gaed Qe HIvgmd 37 ?
(1) IEPUR TS 2) TEEL e
OEREIERIE (4) srofarrt et

During the tenure of which Prime Minister, the Women'’s Reservation bill was introduced
in the Parliament for the first time ?

(1) Indrakumar Gujral (2) H.D. Deve Gowda
(3) Rajiv Gandhi (4) Atalbihari Vajpayee

54. HAfowmsH , 3IfoT I TRYffeH™ HEHARIodHd FqlaT
FHLOAT AT,
(a) @R (b) el (9 R (d) e
i I
(1) ®H (@), (b), () (2) WR (a), (b), (d)
() W (@) () (@) 4) ®H (b) (o) (d)
Recently , and Nagarpalikas transformed into
Mahanagar palikas.
(a) Latur (p) Parbhani (c) Chandrapur (d) Washim
Answer options :
(1) Only (a), (b), (c) (2)  Only (a), (b), (d)
(3) Only @), (), (d) (4) Only (), (0) (&)

HEAT HIUTHIG AT /SPACE FOR ROUGH WORK

P.T.O.



EO6 24 A

55. Qi fErREies ag=se 371(2) 3= HeNe 9 e TSaraet fow aqe

(1) S [ (2) HYH HERTE |WhTd
(3)  WEFTSA ST qiug (4) TIf9T acov qq FiHd

Special provisions with respect to the states of Maharashtra and Gujarat in Article 371(2)
are made on the recommendations of __ committee.

(1) J.P.V Committee (2) Sanyukta Maharashtra Samiti
(3) Maha Gujarat Janata Parishad  (4) Govind Vallabh Pant Samiti

56. el hegl U e T Sfyd et A ?
(a) WG =9 Y5 FARY 1962.
(b) WRA TIfREdM 43 IIRH 1965.
(c) NG ST §ed 1971.
(d) Sfwia Qe AfHEe 1975.

T I
1 @ b I 2 (), (©9(d)
@) @ 3 (d) 4) (@), (b), () F(d)

On which occasions the National Emergency was newly imposed ?
(a) Outbreak of Indo - China War in 1962.

(b)  Outbreak of Indo - Pak War is 1965.

{(c) Outbreak of Indo - Bangla conflict 1971.

(d) For internal security reason in 1975.

Answer options :

(1) (@), (b) and (0) (2)  (b) (¢) and (d)

(3) (@) (c)and (d) ) @, ®), © and (@
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57. @ M fauriie! S arE S ?
(a) 61 TSTGERI HAQWE o4 21 T67 18 AW S 3.
(b) 73S FAGER YA "el Higwishial 50% AR foo 71,
it 3w
(1) &9 (a) qT
(2) IS (b) A
(3) <
(4) TS I A
Which one of the following two statements is correct ?
(@) The 615t amendment reduced the voting age from 21 to 18 years.
(b) The 73" amendment provided for 30% reservation for women in panchayats.
Answer options :
(1) Only (a) is correct
(2) Only (b) is correct
(3) Both are correct
(4) Neither is correct
58. , anfor __THHiE 359 <Eed 23 WY, 2013 URA S|
S,
() S (b) g (c)  wiorge (d) e
Tt 3y :
(1)  ® (a), (b), () (2) W (a), (b, (d)
(3) FH(a), (), (d) (4)  ®F (b), (), (d)
The High courts in , and became functional on March,
23, 2013.
(a) Nagaland (by Tripura (c) Manipur (d) Meghalaya
Answer options :
(1) Only (), (b), (© (2)  Oniy (), (b), (d)
(3) Only (a), (©), () (4) Only (b), (9 (&)
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59. @ faur faemm =

(a) <ifaa foidt gt @ faUe wer a1 T WAwAd 1977 953 WIGAT Q0T ST,

(b) TEEWSAT T TAUEH (AN FAAFHGA B

(c) Twayl d TaHddie iyt gat AT FHfae T <=1 Kt S,

TSR B /R0 foar/ faem aiaT AR/ onee ?

(1) (a) 0T (b) (2)  (b) AT () (3) (a) B 4) (o) ®x

Consider the following statements :

(a) The Opposition Party and the Leader of Opposition were so recognised for the first
time in 1977.

(b) Leader of the House in the Rajya Sabha is appointed by the Chairman of
Rajya Sabha.

(c) The Leaders of Opposition in the Lok Sabha and Rajya Sabha are extended official
status of a cabinet minister.

Which of the above statement/statements is/are correct ?
(1) (a) and (b) (2) (b} and () (3) (a) only (4) (c) only

60. STRATSA] TTAT=A TATEIed=! 7 S0 &= ST Irst et &9 ’
(a) TSITET WM, WY FRERIOE QT () Gara ey, T Saa fa. Jeme

T (1955)
(b) wEHTIREET U AT HeATHE (i) *.TH H=M
G,
(c) MY Y@ L. (i) TEUA 9EM
(d) ¥ YRTHHIY AR HY qEA L (iv) T SR STeEa
it 39N

@ () (9 (d
1) @) @ @) G
@ O @) @) (v
@) @ @) @ [
@ @) @ O @
Match the opinions about the position of President of India with their sources :
(a) Head of the state, but not of the executive (i)  Supreme Court, Ram Jawaya
Vs. The state of Punjab (1955)
(b} A formal and Constitutional Head of the (i) K.M. Munshi
executive
(c) Isnot a figure - head (i) H.N. Pandit
(d) Does not look like a magnificent cypher (iv) Dr. B. R. Ambedkar
Answer options :

@ () (9
(H () @ @) (i)
2 @ @) (D) (v)
(@) (@) @) (v) ()
@ @) @) @O @
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61. eI TH feumiTa! ®IvQ 4y o1 2

(a) AT HIA IRGR YA Hagusw s 1986-1990 =N F1a[ .

(b) SETEHTY P EER. HRIT 9N qed MEees S g

Tt I

(1) &g (a) (2) HaE (b) (3) aEE (4) TEE AT
Which one of the foliowing two statements is correct ?

(a) T.N. Seshan was the Chief Election Commissioner from 1986-1990.

(b) S.Y. Quraishi preceded V.S. Sampath in being the Chief Election Commissioner.
Answer options :

{1) Only (a) (2)  Only (b) (3) Both (4) Neither

/

62. TEI TH [AumIH! UM AT A1 2
(a) 42 T TEAGERAA Fafaen ATHR JoYd g3 Tlecso L.
(b) T SRR ST FRE g9 S AR,
it I
(1) F9% (a) @ F93 (b) (3) = (4) U TR
Which one of the following two statements is correct ?

{a) The 42" amendment has delisted property right from the fundamental rights.
(b)  Since its delisting it has become a legal right.

Answer options :

(1) Only (a) (2) Only (b) {3) Both (4) Neither
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63. WA Heweardl 9ol it guiqed fogm A Jeui &
(a) wEFEN () Hl.uE. sowEeiaa

(b) HEETS (i) F.=. 1@

(c) HEIFE TS (i) T=gUE. AiRE-SY
(d) e (iv) T s
et S

(@ (b) (o) (d)

M v G @)
@ ) 6 Gi) @)

@) i) v O G

@ O @ @) @)

Match the descriptions of Indian Federation with scholars who described it.
(a) Co-operative (i) CH. Alexandrowicz

(b) Bargaining (i) K.V. Rao

(¢) Centralised (i) W.H. Morris-Jones

(d)  Quasi (iv) Granville Austin

Answer options :

(@ () (o (@
() vy @) () @)
@ @ @ G (Gv)
(3 (i @Gv) @ >
4 @O @) () ({v)

(™

64. TEAUTIETSEE WA IR Widtele! ®Iven Yol RIFRE Hdl e ?
(1) (SIURUE T o W% .
(2) TETEE fEs SewTHAl Gow TEH I FO TS T4,
(3) HERA THHRON [EAIS TGO 170 SMS Thdle.
(4) SR FSHIIE 0T Fgaacsier fu=1 TR vel FAaR WS, 9 (NS FEdie S
a3 .

Which of the following suggestions regarding Governor’s office was not recomrended by
the “Sarkaria Commission” ?

(1) Governor’s office should not be abolished.

(2)  Governors not to be selected out of the panel of names given by the states.

(3)  Active politicians can be appointed as Governors.

(4)  Where a state and the centre were ruled by different political parties, the Governor

should not belong to the ruling party at the centre.

FEAT HHETS AT /SPACE FOR ROUGH WORK



A 29 EO6
65. WO ATSAT Fesell ©
(a) ISTEATIG Tl U= ST (i) 2 @ERE 1953
(b) U faEmR Gar = (i) 24 TRH, 1957
(¢) FOHaUY Hedl wildl=1 S "el (iii) 2 SR, 1952
(d) WE fo FEEH gE (iv) 2 e, 1959
gafat I
(@ (b (g (d)
M G 6 6 i)
@ O ) G )
@) i) Gv) 6 @)
@ @ @) (v 0
Match the following :
(@) Rajastan establishes Panchayati Raj (i) 29 October, 1953
(b) National Extension Service launched (ii) 24" November, 1957
(c) Balwant Rai Mehta Committee submits (iii) 2"¢ October, 1952
the Report
(d) Community Development Programme (iv) 2"¢ November, 1959
launched
Answer options :
(@) (b) () (d)
1) vy @ ) (i)
2 O ) @@y ()
@) @) @) @ @)
@ @ @) @) O
66. eI T fagFitE! HIvE T T ?

(a) A i Sefen Mo qAHCETETE! =0 =aea el S AEd ARG

(b) T =TT food! gegers e Ei-viaraRE! 3= Iredr YearEd orrd e
areit e feedl St vk A&

et e

(1) 9 (a) (2) 9 (b) (3) <= (4) THE AR

Which one of the following two statements is incorrect ?

(a) A decision of the Small Causes Court cannot be appealed against in the High Court.

(b) A death sentence passed by a lower court has to be confirmed by the High Court
otherwise it cannot be effected.

Answer options : ‘
(1)  Only (a) (2)  Only (b) (3} Both (4) Neither
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67.

30 A

SH-d IRERered i@y Hivd a9 st et ?

(1) 1971 HT® IRar= IW-Gd [aUrr=n Tea= s d= fibd wroam s,
(2) 8 #HiTR, 1972 USH =t A wTvam e,

(3) 2002 WA URwT Taan TET GHIEY oA

(4)  TE HIIA INESHE T HUE - HeH R TR,

Which one of the following statements is not correct about the North-Eastern Council ?

(1) It was created in pursuance of reorganisation of the North-East regicn of India of
1971.

(2) It was created on 81 August, 1972.

(3)  Sikkim was included in 2002 in the council.

(4) At present there are seven member - states in the council.

68.

(a) OHFIHL YEfad STHSS Ha A& ¥ g

(b) TFEHEA T Foo TG TTHTd AT Hawad yoigd Ayuoa Fudeh 17 g

(c) URTAH GAGENEE WA uefaoa fqgesh 7 giar.

(d) YoSTaa WA E & TR A0 d T SIRHI= A Avard Gidign faameia
[&Id.

FTE! HoE! faum avtieT ongd ?

(1) () =AM (b)

(2) (@) (b) =T (<)

(3)  (b), (o) U7 (d)

(4) (), (b) S (d)

Etfects of Dissolution of Lok Sabha :

(a) Al Biils pending in the Lok Sabha, lapse.

(b) Bills passed by the Lok Sabha, but which have not been disposed of and are pending
in the Rajya Sabha, lapse.

(c) Bills returned by the President for reconsideration, lapse.

(d) Pending assurances do not lapse and are considered by the committee on Government
Assurances of the New Lok Sabha.

Which of the statements given above are correct ?
(1) (@) and (b)

(2) (a), (b) and (©

(3)  (b), (¢) and (d)

(4)  (a) (b) and (d)
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69. TeTHEHT TTWT 311 = T Y FIW TS AL

1) I T AT SHEA TeIule sefauary.

2) R TR SN AT TEEEA ATATIA.

) TR AFIFFIT Tedu I HRie U,

(4) T Tosk ATEIA TR ATHHTIA A ETaEA SO B {uATIIg .

(
(

(3

Article 311 of the constitution provides safeguard to :

(1) Judges of High Court against arbitrary removal by the Parliament.
(2) Civil servants against arbitrary removal from their post.

(3) Military officials from arbitrary court martial.
(

4)  Civil servants as well as military officials from the arbitrary removal from the post.

70. ‘Taid renTcqe 9’ WU Qa9 9T 111, STET R Seod el T8 ?

(1) UEH TeEee TEw 2) <. SEERd AHeH

(3) . TE TEE (4) WER JEOITE 0o

Who described Part III as “the most criticized part” of the Constitution ?
(1) Pandit Jawaharlal Nehru (2) Dr. Babasaheb Ambedkar
(3) Dr. Rajendra Prasad (4) Sardar Vallabhbhai Patel

71. WRd Ua TURA 36, qra AY
(1) <SS DIHIME MG Hae 3R,
(2) TzyqE TE Hived weedEe! Hagd Il
(3) TSarE! HidH A HHHE HHITTR 7.
(4) s ¥,
India is a Republic, which implies :
(1)  The country possesses a democratic system of government.

(2) The head of the state is elected for a fixed term.

(3)  The final authority in the country rests with the parliament.
(4) All of the above.
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72.

32 A

AT 73 T HeAges el AHGTSNaT HIUR WIH IS IV ?

(1) HeEg (2) VST

(3) A (4) SR UHE ATl

Which is the first state,'to implement the 73" constitutional Amendment in India ?
(1) Maharashtra 2)  Rajasthan

3) Gujarat (4)  None of the above

73.

TR [T ' AR Gagd! | o T19A1 FoaTanea=a1 A= foar &1,
(a) wafHa == SiwdeAr 10,000 T 25,000 TTAH 379,
(b)  ToR il SHTEEIHRT= €A 75% Y& HH! THOI.

(c) = HEITeH g faen ‘&' g7 TTRUNERUEA d &7 HHa HHl 50 fwal fex ofauqe
3T,

(d) TIITOTRE I SO B STRIEYIE.

o fedearat FIoH faum steT 3TRa ?
(1) s (a) @ (d) (2)  HE@ (b) AT (c)
(3) &d® (c) A (d) (4) &

Consider the criteria about the establishment of ‘Nagar Panchayat” in Maharashtra state.
(a) Population of the area should be between 10,000 to 25,000.
(b) Not less than 75% of employment in non-agricultural activities.

(c)  The area should be minimum 50 km away from the nearest Municipal Corporation
or ‘A’ category Nagar Parishad.

(d) The proclamation to that effect by the Governor is essential.
Which of the statements given above are correct ?

(1) (a) and (d) only (2)  (b) and (c) only

(3) (c¢) and (d) only (4)y Al
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ST o JfqUreH e RIHATSAT SIS e foar &4

(a) ARG TSToh!g AT WhN=A1 HHIEAITHE TS TG
(b) TSThIF Tl A=A AT T Facd v

(c) HeEeq W= iy fafay g, |MISe, anfeien, Wiwpldes A0 IS T IET
Tfshad TEWM.

T HI faur/faum sRiex 1"/ 3med ?
(1) *a%B (a) (2) T (a) I (b)
(3) Has (b) AT () (4) HFD (a), (b) 3 ()

Consider the essential elements of good governance as stated by the World Bank :
(a) Political accountability and acceptability of political system by the people.
(b) Regular elections to legitimise exercise of political power.

(c) Freedom of association and participation by various religious, social, economic,
cultural and professional groups in the process of governance.

Which of the statements given above is/are correct ?
(1) (a) only (2) (a) and (b) only

(3) (b) and (c) only (4) (a), (b) and (c) only
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75. Tegmitvgi sifer 3 w@ i fegfioei=t gestsa aisn siean oL
(a) AR U9 TG Hald Yae S e anfor () Y YR

faama &M %,
(b) | HEA I T HrE(R TG . () @
(c) WA Ao faw™ Temed Yarad gfere! (i) HeNre
HH FW.
(d) THYIEHIER SEE . (iv) wAREH
Tiet I

@@ (b) (o) (d)
1 @) @) @O @
@ O @ @ (@)
@ @ @O @) (i
@ (v) @) @) @
Match the powers and functions of Zilla Parishads with their states.

(a) Is the strongest of Panchayati Raj tiers, executes (i) Andhra Pradesh
the functions as Planning and Development. '

(b) Is co-ordinating body, supervises the working (ii)) Gujarat
of the Panchayat Samiti.

(c) Discharges the functions of Panchayat Samitis (i) Maharashtra
in respect of non-samiti blocks.

(d) Supervises Village Panchayats. (iv) Karnataka
Answer options :
@@ () (o (d
1 @ ) @ @
@ O @ @ @
@) (@) @ () (i)
(4) (v) () @) @
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76. WIOIGUHI HITAT 371 LT TSATaT Heeh STet 7

(a) TR SRS YIcHTEA QUL

(b) 9T Heho e JAqH STHR fdma giawr qfqor.

(c) et AT frfdter Jeme <.

d) wEwR e gedt wEria F.

() T Wik TE@UL.

() S AR EISTAEE fHd aeaa @i faeg FRar H.

Tt S

1) @ F) 2 @%@ 3) (o) %R 4) (@O

Which of the following is not a componant of the Food Security System ?

(a) Promoting domestic production.

(b) Providing minimum support prices for procurement.

(c) Promoting export of agricultural commodities.

(d) Operating public distribution system.

(e) Maintaining buffer stocks.

(f)  To act against traders who push up prices during shortages.

Answer options :

(1) (d) and (e) (2)  (e) and (f) (3)  (c) only (4)  (c) (¢) and (f)
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IS YA HERE i fasm qereagi (MIDC) TIaIGuh! HIveT Aac oAl SHrEhara
G FUd T ?

(a) TSAW foME HFET (Growth Centres) TITIAT S0,

(b) ST &A1 T 9 TS AT fThTE L,

(c) TEuT SEaRiwG e Tated) TR F.

(d) Aranfiie aaRdd T 9 foea qufeart IRl 6.

(e) irnfiies fora=i Tomdn oL,

(f) o IAFT A TAUAT, T qgh ATETS SATOUATHT,

i I

1) (@) () (), (d) M () 2 (@), (o), (), (e) =0T (f)
(3) (@), (b). (o), (d) 3for(f) 4)  (a), (@, (d) (e) =T (f)

Maharashtra Government is implementing the following important programmes through
the Maharashtra Industrial Development Corporation (MIDC).

(a) Establishment of growth centres in the state.

(b) Development of roads and drainage in the industrial areas.
(c}  Setting up of ‘Five starred industrial areas’ in the state.

(d) Construction of roads and street lights in industrial areas.
(e)  Establishment of industrial finance.

(f)  Establishment of mini industrial area to cover all Talukas.

Answer options :

78.

(1) @) (b), (9) (d) and (e) (2) (@), (), (d), (e) and (f)
(3) (@), (b), (c), (d) and (f) (4) (@) (c), (d). {e) and (f)
(a) Ifte saEdfipre STaidl = yg@ 1. g7 fo®l g

(b) UfES MUR &1E A Tefaie fSeam fao 719

T I

(1) (a) W TR 3R (2)  (b) eI SIS TR,

(3) (a) 30T (b) TEIET SR 3G, (4)  (a) 37T (b) QIEHET T 3T,

(a) The Unique Identification Authority of India was headed by Mr. Nandan Nilekani.
(b)  The first Aadhar Card was given in the Gadchiroli district of Maharashtra.
Answer options :

(1) (a) only is correct. (2) (b) only is correct.

(3) Both (a) and (b) are correct. (4) Both (a) and (b) are incorrect.

oAl HIATETS I /SPACE FOR ROUGH WORK



A 37 EO6

79,  WRATS STHMA RO S 9 qHREIFOTE WOeueh! RV HRO R ?

(a) TIHEEIE 9N
(b)  SIAH=ATl WIS HSAATSI

—~

¢) T s g
(d) THA I Al

qaidr 39
(1) (a) B (2) (a) M (b) WK
(3)  (a), (b) 3 (¢) (4)  (a), (b) ¥ () e

What are the causes of sub-division and fragmentation of land holding in India ?
(@) Pressure of population

(b) Extensive indebtedness among farmers

(c) Impact of new technology

{dy Joint family system

Answer options :

(1) (a) only (2) (a) and (b) only

(3) (a), (b) and (c) only (4) (a), (b) and {(d) only

80. WOIOUH! HIId ' Hewehtd fahard’ w1 AT ?
(1) afvess grafires fsor gt e .
2) DIwEEA ARl NH T WE FI0.
3) AR FARTY FUEo.
(4) vl ARed fashTErEt @t wol.
Which of the following is not a Millennium Development Goal ?

(1)  Achieve Universal Primary Education

(2)  Reduce Population Growth Rate
(3) Improve Maternal Health
(4) Ensure Environmental Sustainability
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81. o TF Yol Hivl fgum arg o 2
(a) W 9 THEG TR feEed 6 fgedt 39 AR,
(b) @&l g W AR (KVIC) T fashs Haredreal fasomamet sl S,
At 3
(1) &% (a) (2) 9 (b) (3) TR (4) wE Rt
Which one of the following two statements is correct ?

(a) The KVIC has its headquarters at New Delhi.

(b) Khadi and Village Industries Commission (KVIC) functions under the control of
Ministry of Rural Development.

Answer options :

&)

(1) Only (a) (2) Only (b) (3) Both (4) Neither

82. v faamiyes! SoG avg e ?
(a) TS T AF LR ST GLes 180 372 Jard! FeRy Ht e,
(b) U TR T 2011-2012 HE STER 45 e IUGH A
() oI WS §9 2011-2012 9 TEE 39 3 3T Tal.
it ST

1) @90 2) ®)F(© () @9 @) (@ )9
Which one of the following statements is correct ?

(@) The National Institute of Nutrition has recommended per capita annual consumption

of 180 eggs.
(b) National level per capita availability of eggs was 45 in 2011-2012.
(c) State level per capita availability of eggs was 39 in 2011-2012.
Answer options :

(1) @and(®) () Gand© () @and©) @) (@), ) and ()

e SIS WA /SPACE FOR ROUGH WORK
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83. UL $ga ARG WUl - [[I THR WERIL=AT FRIATAT ddd Siaieds! v faum @
IR ?
(1) 1 1o FoIe qo=H1 SIS T S 3.
) ToE 9O YE T THITIET S 3T,
(3) TS A g IR o1 Yeget THH AR,
(4) TERILHIS 910 JoIgt TS TIdeidel S 1.

Which of the following statements is true regarding health status of Maharashtra according
to National Family Health Survey-III ?

(1) Infant mortality rate for girls is higher than that for boys.
(2) Infant mortality rate for boys is higher than that for girls.
(3) Infant mortality rates for girls and boys are equal.
(

4) Infant mortality rate in Maharashtra is much higher than that of the nation.

84. YA SIIUAT - 2011 T9R B ¥d GeHid WHSIH! S fGa T TR,
(1) TRNILHS SEEeiH S HAHH e SmHEel TASeT SRd 3R,
2) TRERIEMS BB Sdl ToRAAHS Sha @Il SHAueT Hhl 37,
() TRRIRKIS ShEEE! Sl T Yaas S .
(4) TR o Aoy IS SehEE= S T 3T,

Which of the following statements is true regarding the density of population as per India
Census - 2011 ?

(1) Density of population in Maharashtra is higher than the density of population in
Karnataka.

(2) Density of population in Maharashtra is less than the density of population in Gujarat.
(3) Density of population in Maharashtra is higher than the national level density.

(4) Density of population in Maharashtra and Tamil Nadu is equal.
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85. Seal N Sohehgr UE TS ORI 92 Fot S Jea1 car= S 9oy g ?

(1) TeAd dohehe sl SUATAIST HHT G| ST,

(2) AT dhhe e SUATER Sfesn T I,

(3) SN dhiwS F9 Cuarardt et Ta Sl

(4) MG FRFS Fl qAEIST ek T I,

When the Central bank reduces cash reserve ratio, what is its implication ?
(1) Central bank has less money to lend.

(2) Central bank has more money to lend.

(3) Commercial banks have less money to lend.

(4) Commercial banks have more money to lend.

86. RATA MY faeraTdio SEUAN Trael Yaaite dsadd SIvd T e g Aot gt ?
(1) TR e Ot € SfEeran s e,
(2) STHRYd WA fashEre] SR foet et Tegdl.
() 'frum e i da Ao e K 2.
(4) SfcraEd TRl wHugE WU FS TS F.

What was the major flaw in economic development strategy of India upto the fifth five
year plan ?

(1) Growth of national income was less than the target.
(2) Infrastructure development was not emphasised.
(3) Growth was preferred over minimum needs programme.

(4) Economy was protected from foreign competition.
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87. o &G GUROT USaA SO0 Toh Wi WU TH.TH. TTR HIHdT=! T19 1997 HE e,
71 wfdt= Hafq Tecama 3fee Ho 27 2

1) wieTd GAEie gRadqraal
(2)  wftor ot gt

() QG EEE(S giad-Ed

(@) VISIT TS GO

S.S Tarapore Committee was appointed in 1997 as a part of banking reforms. What was
its main objective ?

1) Capital Account Convertibility

3

1)

(2)  Restructuring of rural banks
(3) Current account convertibility
(

4) Capital Market Reforms

88. (a) YRAKISG TP TEAGUN UM 11% =1 STTHIR 3N, S SR GUEe1 FaIesurd 78 e,
(b) ST TEiTEE FRER S aasd YRA TR § SIS AN 378 feR YRaK Seadn.
waft I ;

(1) (a) o TR 2R, (2)  (b) T TR .
(3) (a) 3@ (b) IE WX 3RA. (4)  (a) 2T (b) =T TF 37

(a) The gross enrolment ratio in India is around 11 percent which is about half of the
world average.

(b) India is a home to the largest number of illiterates in the world accounting for almost
half of all the illiterates.

Answer options :
(1) (a) only is correct (2)  (b) only is correct

(3) Both (a) and (b) are correct (4) Both (a) and (b) are incorrect
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89. gHIKIEAT A fomuumen Heuld [@Ie A Jecl HuH Alsol &,

(1) e, ST S0 Fa

(2) M, |ar i it

(3) B, g et sam

(4) F, Fa A7 I

Arrange the following sectors in ascending order as per occupational distribution of
workforce.

(1)  Agriculture, Industry and Services.

(2) Industry, Services and Agriculture.

(3)  Services, Agriculture and Industry.

(4) Agriculture, Services and Industry.

90. Wral fawTg FEeieT= Yeheqrl WSB! HIvedl 49 ITEHET 3efid ofg ?

(1)
@
)
(4)

TTSIE 3o, |IERAT X 3701 fon wHvE
fom wurE, sTufera smwatar snfor Wie waral
arafar sTrgHater, die weal onfl TER sa
arafer smpier, fam ol <@ 3=

The concept of Human Development Index is based on which of the following three
variables ?

Per capita income, Literary rate and Gender equality.
Gender equality, Life expectancy and Adult literacy
Life expectancy, Adult literacy and Per capita income

Life expectancy, housing and Per capita income
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91. WOGIH! HIR HeFh WRAKIS STHACT & GHROME 3w 8l ?

(a) HEIEATH I=ARA

(b) HEAYHET WA

(c) werd fFEm

(d) S el aiefau

T I

1) (a) (2)  (a) A0 (b) H

(3) (@), (b) A () FeHd (4) (@), (b) T (d) HH

Which of the following were the objectives of land reforms in India.

(@) Abolition of intermediaries

(b)  Security of tenure

(¢) Control of rent

(d) Enhancing land productivity

Answer options :

(1) (a) only (2) (a) and (b) only

(3) (a), (b) and (c) only (4) (a), (b) and (d) only
92. YR FMFRST A Y419 SHela ™ Qoiods! Faid Hew@re HROT v ?

(1) =i ITRTHT |0 T F0I.

(2) AT Aesaaral T g

(3) HNATdTS SRISTRET g3 diefan

(4) RAE HTNfTR IEEAS T/ SR Hes aedul.

What was the most important reason of the following to adopt import substitution strategy
in India ?

(1)  Protection of domestic industries.

(2)  Acute balance of payments problem.

(3) To solve unemployment problem in India.

(4) To mcrease domestic component in Indian industrial production.
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93. YEI® <F Ul S faum g oTw ?
(a) & W Sfow] faened & seae SyfEd Sal 9 SAYiEd S gl SR,
(b) ¥ foameg i Arm wrmg WY e gF AR 9 TS W,
et I
(1) I (a) (2) HIB (b) (3) e (4) T TR
Which one of the following two statements is correct ?

(a) Kasturba Gandhi Balika Vidyalaya is for girls from Scheduled Caste and Scheduled
Tribes only.

(b) Itis set up in educationally backward blocks where schools are distant.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
94, NSSO =1 68 =41 TEVITER =16 «idh FRrd R 2011-12 H&3 IR SUSITET €X ( FH3 <1
TERANIT) AT § YEd WFa __ Aigdte e,

(1) %N 7.7 <%k 9 103 T
(2) TIHH 6.8 TRk 9 5.8 TFh

(3) STTHHA 5.7 THFk 9 5.5 TFh

(4) STFA 7.8 THFK T 6.2 THh

As per the current daily status of NSSO Round 68, unemployment rate for 2011-12 (as
percent of labour force) in rural and urban areas got recorded as

(1) 7.7 percent and 10.3 percent respectively.
(2) 6.8 percent and 5.8 percent respectively.
(3) 5.7 percent and 5.5 percent respectively.

(4) 7.8 percent and 6.2 percent respectively.
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95, 9Ra Fraior Gt g Sfessl st o1 ?

(a) TTTOT ST FHE o TR gyt .

(b) IO AT T Flere g

(c) T wFTE Yerfuren glogn g,

(d) THIOT 9RTG HToR qRaet et e,

ERIRic

(1) (@) A (c) T ) (@), (b) = () Tkt

(3)  (a), (b) 0T (d) T (4) (@ (b, (c) =M (d)

What are the main objectives of Bharat Nirman Programme ?

(a) Providing irrigation and road facilities in rural areas.

(b) Providing housing facilities in rural areas.

(c) Providing educational facilities in rural areas.

(d) Providing water supply facilities in rural areas.

Answer options :

(1) (a) and (c) only (2) (a), (b) and (c) only

(3) (@), (b) and (d) only (4) (@), (), ) and (d)
96. WA A TS R0 HGTE T 2

(@) WA TRE TaE wEEr SARER 2010 HEd FHSH ST,

(b)  ATTE Wi Wfea= aXqaEl A HIEI/FAEH SHTERS A

gt 34T ;

(1) e (a) (2) =@ (b) (3) =R (4) U T

Which one of the following two statements is incorrect ?

(@) The national green tribunal (NBT) Act was brought into force in October 2010.
(b)y Itis not bound by the procedure laid down by the Code of Civil Procedure.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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97. “'TRigTouel FRTS FROIS Y& Evi S gt e erel WA oy
(1) 1,000 (2) 10,000 (3) 1,00,000 (4) 100

Maternal Mertality Rate (MMR) is defined as the number of maternal deaths per
o _ live births due to causes related to pregnancy.

(1) 1,000 (2) 10,000 (3) 1,00,000 4) 100

98. 1996 3Tfor 2006 wed TRaTEndt fomgafyd faem fevier 9omm F0 39, St a3y gaifus
T IOV hew qid T/ eI Jeu B, 8 U/ hantad wew wiv 7
(1) =irs, oot o wenre
(2) e, e enfor erfy wew
(3) e, dfere st T
(4) feoot, nEn smiv Al
Gender Related Development Index (GDI) was calculated for India in 1996 and 2006.

Only three states/UTs achieved the highest GDI scores in both the years. Which were
these states/UTs ?

(1) Chandigarh, Delhi and Maharashtra
2) Goa, Kerala and Andhra Pradesh

3) Kerala, Chandigarh and Goa

(4) Delhi, Goa and Karnataka

(
{

99. TG < {auMida! ®IV TG AR ?
(a) WRER TogEETd 42 9 wEW TU6F YIFAMT 0 9=75d T weard fdw 2
(b) A TEANIAT 247 KA YHIad T A qAE WO A wgu e
TS HETYol YW UH WIS IS
Tt I

(1) %9 (a) (2) HAS (b) (3) < (4) T R

Which one of the following two statements is incorrect 7

(a) Article 42 of the constitution of India directs the state Govts. to establish village
Panchayats .

(b) As per Article 247 of the Indian constitution, the Panchyat Raj plays an important
role for the protection of environment and control of pollution.

Answer options :
(1)  Only (a) (2)  Only (b) (3) Both (4)  Neither
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100. 3T e AN (IAY) @ T& 3R a1
(1) T I U= SiehiaT et giasn Q.
(2) TV TS SIRES YT SHad SATUIRT oS SIhidTa! S g,
(3) F & HrE HRoT=A DR AT glawn e,
(4) =l T AL
The main objective of Indira Awas Yojana (IAY)isto .

(1) Provide shelter to the people who are living in rural areas.

(2) Construct houses for the houseless who are living below the poverty line in rural
areas.

(3) Provide shelter to the people who are engaged in agricultural sector.

(4) None of the above

-00o0-

HoeAT HIUTHTS! ST /SPACE FOR ROUGH WORK

P.T.O.



EO6

48 A

AT — (= 1 9% 98....)

®) TegfEeRne fafga doen fofoe Sl #= =M (W@ 9%) . Teyiceeaidiad Saafeher a1
T HICEL Fod FH HeAd d D BV IJWMM ke AR, 30 TS TE6 § IR IHGIRTR
WA W oo ¢ dieined o TRysRiT gasy svsases Affan-82 " Adie WaeER HRaR
FO S 9 TN ST HHIG UE aure s anfoyfea 93 Uw gR Teue ders fdw

9) T TIAAREE! ST fafeq S 9@ YIeaHa SHEATS 3 TeTYEdeh] T set T aTHael
UTA A GEEA SR, WA THAT HATERT AT SHEAR HTUCHT STUTeh AT -1
AUGYHTGS = [aHHaT Td 0] MaAYAh e

. sh. 201,

9. . 201.

T T
ATl IS T HIOAEIE! R0 H&d: FIA HS 2
() &l gare ard ) g feEmrR
@) T IR O @ TEES e
I A I (3) TS T 1 99 AR, S @ TN S (3)" RS, Ak
GEQYAT T3 F. 201 THe TR-F0E Q)" 7 aqa i gmifEd s A i

ONON NO

3TN TZAH T WITIashdie I YeAEl gHEl ST AR 8 Rl Wi qiasen
IR = O YHAFHHEANS GfUa ades Ui Sifhd HEA SEaE. R
o Thiedl TR Sio0s ar, Ui ar snge 9 aruw =4,
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